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ENGLISH VERSION

1 What is cost accounting ? State its advantages. 14
OR
1 Write a detailed note on 'classification of cost'. i4
2  From the following details obtained from Vinayak Ttd. 14
Find out
1) EOQ

(2) Minimum Level
3) Maximum Level

4) Average Level (with EOQ)

BA-3376] 4 [Contd....



(3) Danger Level
©) Safety Level

Quarterly consumplion ...........ccooviiiiiriiiec e, 16,000 units
T A o T O 3 ¥ 4§ 1 O PO PO Rs. 30
Ordering cost of each other ... Rs. 15
Storage expense Per WML .........ooooioeiireerieeerinnaeeeeeecsens Rs. 0.10
Ordering Level ... 2,000 units
Maximum delivery period........ccooooeiiiii i 50 days
Average delivery period.......cccoirecrciiniiiiie e 40 days
Maximum delivery period.for emergency purchase........ 4 days
Minimum consumption per day .......cooeeermmrierneraaees 20 units
OR

2  Material ABC is used in a factory as on 1-4-2015, its stock 14

was 1,000 units, at the rate Rs. 10. During the month of April
following transactions were occurred.

Date Quantity Price per unit Particulars
April 2015 (Units) Rs.)

6 200 11 Purchase
7 1,600 - Issues

8 1,400 12 Purchase
9 1,000 - Issues
10 800 13 Purchase
11 | 1,000 - Issues
12 2,000 14 Purchase
13 1,000 - Issues
.2 5 1,000 15 Purchase
30 1,000 - Issues

- Prepare stores register by using LIFO method.
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Osn, Jay and Jagdish three are Labourer in a factory. 14
Allowed standard time for a job is 50 hours. Wage rate per
hour is Rs. 2.
To Finish the job om takes 30 hours, Jay takes 40 hours,
and Jagdish takes 55 hours. What wages will have to be paid
to each one in the following methods ?
(1) Job wage system
(2) Halsey bonus system
(3) What will be the effective wages rate of each one in the

job wage system ?

OR

The following information is extracted from the record of 14
Birju & Company Ltd. for the month of March 2015
Number of employee at the beginning of the month ... 950
Number of employee at the end of the month ........... 1,050
Number of employees resigned .........c.ocooovveeeciiineiciain, 10
Number of employees discharged .................oocoooioviniinn. 30
Number of employees replaced in the vacancies ............. 20
Number of employees appointed due to expansion

SCREME ..o 120
Calculate the Labour turnover rate and equivalent annual
rate under different methods.
In a factory, there are three production department 14
A, B, C and two service departments D and E. The details
of the expenses during March, 2015 are as under :
Indirect wages 3,000 | Rent and rates 3,800
Insurance 1,500 | Contribution to ESI 1,000
Canteen expenses 4,500 | Depreciation 12,000
Lighting 2,000 | Power 22,500
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Other information :

Particulars A B C D I
(1) Lighting poinls 8 4 4 3 3
(2y  Direct wages (Rs.) 6,000 5,000 { 4,000 3,000 2,000
3  Cost of machine (Rs) 72,000 | 48,000 36,000 12,000 § 12,000
()  Horse power of

machine G 6 3
(%) Space occupied (sq. feet) 600 400 500 200 200
(¢) Number of workers 5 6 4 2 1

The benefit of service department D and E derived by the
other departments in the following production :

Particulars A B C D E
Department "D’ 40% 30% 20% - 10%
Department T’ 30% 40% 30% - -

Prepare the statement showing distribution of overhead to
various departments.
OR
4  The following annual charges are incurred in respect of 14
machine in Naryan Limited, where the work is done by five

machines of similar type and specification :

()’ Rent and rates {space occupied by machine) ... Rs. 10,000
@  Depreciation on each machine ... Rs. 600
(3  Repairs and maintenance for five machines ... Rs. 2,000
4  Power consumed at Rs. 1 per umit ... Rs. 60,000
)  Electric charges for lighting ... Rs. 2,000
(6) Two attendants for the five machines and they

are each paid Rs. 2,000 pm. ... Rs. 4,000
(7 TFor the five machine there is one supervisors who is paid

Rs. 3000 p.m.

@  Sundry materials ... Rs. 500

(9  Hire-purchase instalment (including Rs. 500 as interest) .. Rs. 2,500
(10) The machines uses 10 units of power per hour

Calculate the machine hour rate for the machine.

5 Explain advantages and disadvantages of cost audit. 14
OR
5 TExplain about Reconciliation of cost and financial accounts. 14
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